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QUESTION: 62 
For a compute instance that is launched in a private subnet in a Virtual Cloud Network 
(VCN), which action needs to be performed to connect to the Internet, assuming that the 
required security list is properly set up? 

A. Assign & Public IP address to the compute instance. 
B. Create and configure Network Address Translation (NAT) in a public subnet and route 
all traffic to it. 
C. There is no way for an instance in a private subnet to connect to the Internet. 
D. Create a default route entry in the route table to forward all traffic to the Internet 
gateway.  

Answer: A 

QUESTION: 63 
Which statement is true about cloning a volume? 

A. You need to detach a volume before cloning from it. 
B. A cloned volume is the same as a snapshot that has a dependency on the source 
volume. 
C. You cannot change the block volume size when cloning a volume. 
D. You can create a clone for a volume across regions.  

Answer: C 

QUESTION: 64 
What does Terraform use to create, manage, and manipulate infrastructure resources? 

A. provider 
B. provisioner 
C. instances 
D. resources  

Answer: D 

QUESTION: 65 
A customer wants to do development on premise while leveraging services such as Java 
Cloud, Mobile Developer Cloud, and App Builder Services. The customer would also 



like to scale out the application, stretching from on-premises to the cloud by using a 
common API. Which two infrastructure options can the customer leverage to do this? 
 
 
A. Oracle Cloud at Customer 
B. Oracle Cloud Infrastructure Classic 
C. Oracle Cloud Ravello Service 
D. Oracle Cloud Infrastructure  
 
 
Answer: A, D 
 
 
QUESTION: 66 
You launch a Windows Instance and use the initial password provided to you by Oracle 
Cloud Infrastructure to RDP into the Windows instance. However, you are unable to log 
in. What Is a possible reason? 
 
 
A. NO security list has been created in your Virtual Cloud Network (VCN). 
B. The security list associated with the subnet of your Windows instance has no stateful 
rule to allow SSH traffic On port 22 for your IP address. 
C. The Windows license is not correct. 
D. The security list associated with the subnet of your Windows instance has no stateful 
rule to allow ingress traffic over RDP port 3389 for your IP address.  
 
 
Answer: A, D 
 
 
QUESTION: 67 
Which two are required to create on IPSec VPN connection? 
 
 
A. security list 
B. static route CIDR 
C. name 
D. compute instance  
 
 
Answer: A, D 
 
 
QUESTION: 68 
For what business need should you use Database Cloud Service (DBCS) instead of 
Oracle database on a compute instance? 
 
 
A. to bring your own license on a compute service 
B. to lower license and Infrastructure cost 



C. to build an Oracle database on a compute service 
D. to implement Oracle RAC for high availability  
 
 
Answer: A 
 
 
QUESTION: 69 
Your company is moving an Internet-facing, 2-tier web application into Oracle Cloud 
Infrastructure. The application must have a highly available architecture. Which two 
design options would you consider? 
 
 
A. Place all web servers behind a public load balancer. 
B. Configure a NAT instance in your Virtual Cloud Network (VCN). Create a route rule 
by using the private IP of the NAT instance as a route target for all the private subnets in 
your VCN. 
C. Configure a Dynamic Route Gateway in your VCN and make it highly available. 
D. Create an Internet Gateway and attach it to your VCN. Deploy public load balancer 
nodes into two Available Domains. 
 
 
Answer: D 
 
 
QUESTION: 70 
What happens when you run terraform plan? 
 
 
A. It configures, reconfigures, and instantiates resources and their dependencies. 
B. It shows the operator the course of action that would be taken If a change is applied. 
C. It deletes all existing resources and re-creates them. 
D. It shows a dependency graph.  
 
 
Answer: C 
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